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Code | . Description i
B Blank — nothing written or drawn in response
1 Ilegible, Irrelevant, Off Topic
Problem-solving process of comparing and ordering
fractional amounts shows limited effectivencss due to:
s minimal evidence of a solution process
e limited identification of important elements of the
10 problem
e too much emphasis on unimportant elements of the
prablem
o no conclusions presented
. wm.lmii._ui presented 1 wnhmli -.Llppulhllb evidence
Problem-solving process of comparing and orderi ing
fractional amounts shows some effectiveness due lo:
« an incomplete solution process
20 « identification of some of the important elements of the
problem
¢ some understanding of the relationships between
impartant elements of the problem
+ simple conclusions with little supporting evidence
Problem-solving process of comparing and ordering
fractional amoeunts shows considerable effectiveness due
Lo s
e asolution process that is nearly complete
k1) o identification of most of the important elements of the
problem
» g considerable understanding of the relationships
between important elements of the problem
'« appropriate conclusions with supporting evidence
Problem-solving process of comparing and ordering
fractional amounts shows a high degree of effectiveness
due to :
* a2 complete solution process
40 o identification of all important elements of the problem

e 2 thorough understanding of the relationships between
all of the important elements of the problem

s appropriate conclusions with thorough and insightful
supporting evidence
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Fie in seeved at a plonic. Exch ple iz nade op of & equal pleces, Bradley meeonds the number
af pieces vach person ents in the lablo below,
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Pie is sereed ata picnic. Each pie is made up of § equal pieces. Bradley records the number
of pieces each perdea eats in the ble belaw.
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Limited identification of important elements of the

Rationale : Rationale :
e Limited identification of important elements of the .

problem problem- lists incorrect fraction
e Misunderstanding of 6 equal pieces; uses pie with 8 =

equal pieces

Conclusion presented is not supported by the work
shown
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Question 8 Code 20

E1 Fie s served ot a pienic, Each pie is male up of § equal pieses. Bradicy recards the wanber
of pleess each peren eala iy the labl below,
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Question 8 Code 20

Tz in served o1 8 plenbe, Eacl pie i3 mace up ol 8 equal piecea, Bradley cecords die number
af piecea ench parson eals in the lable below,
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Rationale :

Some understanding of the relationship between
important elements of the problem

Added all of the pieces but cannot relate them to parts

Rationale :
o Incomplete solution process
Conclusion presented with little supporting evidence-

L ]
work shown does not reflect final statement

of a whole




EQAO Grade 6 Assessment,

Scoring Guide - Mathematics — Spring 2006

Question 8 Code 30 Question 8 Code 30 Question 8 Code 30
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Rationale : ‘Rationale : Rationale ;
o Identification of most of the important elements of the o A solution process that is nearly complete e A solution process that is nearly complete

problem « Demonstrates a considerable understanding of the o Appropriate conclusion for the work shown- omitted
o Does not identify 1 pie (6 picces) as the whole, Uses relationships between important elements of the one student

18 pieces as the whole. problem- cannot convert from decimal (o a fraction




Descriptiqf; :

Blank — nothing written or drawn in response

llegible, Iirelevant, Off Topic

Problem-solving process of comparing and ordering

fractional amounts shows limited effectiveness due lo:

« minimal evidence of a solution process

« limited identification of important elements of the
problem
too much emphasis on unimportant elements of the
prablem

s noconclusions presented

e conclusion presented without supporting evidence

Problem-solving process of comparing and ordering

fractional amounts shows some effectiveness due to:

= an incomplete solution process

e identification of some of the important elements of the
problem
some understanding of the relationships between
important elements of the problem

e simple conclusions with little supporting evidence

Problem-solving process of comparing and ordering
fractional amounts shows considerable elfectiveness due
o

e asolution process that is nearly complete

o identification of most of the important elements of the
problem
a considerable understanding of the relationships
between important elements of the problem

« appropriate conclusions with supporting evidence

Problem-solving process of comparing and ordering

fractional amounts shows a high degree of effectiveness

tdue to :

« a complete solution process

e identification of all important elements of the problem

e athorough understanding of the relationships between
all of the important elements of the problem
appropriate conclusions with thorough and insightful
supporting evidence

EQAO Grade 6 Assessment,

Scoring Guide - Mathematics — Spring 2006

Pie iin senved 2t 3 picric. Each phe is mde up of 6 equel pieces. Drsdlay reconds the pusber
of pieces cach parson cats in b labic below.
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Question 8 Code 40

Question 8

Pie is served at & phonic. Each pic s mads up of 6 equal pisces. Bradiey pecoeds tse samber
of pheess cach perion eals in e e below,
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Rationale :

e A complete solution process

e Appropriate conclusions with thorough and insightful
supporting evidence- correctly determines that 14/6
pies are eaten in total

- N

. Rationale :

A complete solution process

Appropriate conclusions with thorough and ltlbli,h[hﬂ
Hﬂl‘r['.lﬂltll‘lb evidence- correctly determines that 2 2
pies are caten in total




TYAOQ Grade 6'Adsessment,”

E——

I L Description ML n

Blank — nothing written or drawn in response

Illegible, Irrelevant, Off Topic

10

Application of knowledge and skills of drawing
three-dimensional figures shows limited
effectiveness due to

= misunderstanding of concepts

e incorrect selection or misuse of procedures.

20

Application of knowledge and skills of drawing

three-dimensional figures shows some

effectiveness due

e a partial understanding of concepts

« errors and/or omissions in the application of
procedures.

30

Application of knowledge and skills of drawing

three-dimensional figures shows considerable

effectiveness due to

e an understanding of most concepts

« minor errors and/or omissions in the
application of the procedures.

40

Application of knowledge and skills of drawing
three-dimensional figures shows a high degree
of effectiveness due to

» athorough understanding of the concepts

e an accurate application of the procedures.

e ie. student draws an appropriate three-
dimensional figure with appropriate size
and shape (minor errors do not detract
from a thorough understanding).

; bcﬂnﬁg‘ﬂu'ldu""ﬁhthtmhtrﬁ—'Sprm 2

Question 9./

» D ahe ihree-dimensional figuee that will be ceeated when the following net is folded,

Show all verices and edjes.

[}

| Code 10 ! Question 9 |

. Code 10

[iraw the three-dimensianal figure thae will be crented wh:  the follmwing netis folded.
Shaw all vertlees and edges, .

Rationale:

e Application of knowledge and skills of drawing 3D
figures shows limited effectiveness

« No attempt at 3D

Rationale :

Application of knowledge and skills of drawing 3D
figures shows limited efi'e-::tweness

Incorrect drawing of 3D figure e.g. cube rectangular
prism, irregular shapes




«Draw she theethnensional (gurs chac will be creaied wlen the following ned s folded,
Shaw all venloes and edges.
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Rationale :

Application of knowledge and skills of drawing 3D
figures shows some effectiveness

Errors and omissions in the application of the
procedures- does not show hidden edges

Incorrect use of isometric dot paper

b Draw che threesdimensional fgore Mat will be ereaced when the Gllowing net 13 falded
Show all vemboes and edges,
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Rationale : :

Application of knowledge and skills of drawing 3D
figures shows some effectiveness

Draws 3D triangular prism with errors and with
omissions-hidden edges not shown

Rationale :

Application of knowledge and skills of drawing 3D
figures shows some effectiveness

Errors in the application of the procedures- uses
isometric dot paper incorrectly and creates a “flat”
figure °




Draw the Usree-chionensional Nigare thae will be created when the Tatlawing mee |s folded.
St ol wermites and edges,

«Deaw the three-d imensional figure thacwill be creaved when ehe follawlag nel is flded.
Show all weriices and edpes.

v Draw the three-dlmenslonal figure that will be created when the fellawing net s Folded,
Sheaw all verlices and edges ’

Rationale :

¢ Application of knowledge and skills of drawing 3D
figures shows considerable effectiveness

¢ Triangular prism drawn- showing hidden edges and
vertices but 3 faces are square not rectangular {error)

Rationale ;-

* Application of knowledge and skills of drawing 3D
figures shows considerable effectiveness

e Aecrial view of triangular prism with minor errors in
application

Rationale : :

+ Application of knowledge and skills of drawing 3D
figures shows considerable effectiveness

+ Triangular prism with hidden edges drawn but minor
erior with one of the triangular faces
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bl UDescription)

Biank nothing written or drawn in response

lllegible, Irrelevant, Cff Topiec

10

Application of knowledge and skills of drawing

three-dimensional figures shows limited
effectiveness due to

= misunderstanding of concepts
+ _incorrect selection or misuse of procedures.

20

Application of knowledge and skills of drawing
three-dimensional figures shows some
effectiveness due

» apartial understanding of concepts

+ errors and/or omissions in the application of

procedures.

30

Application of knowledge and skills of drawing

three-dimensional figures shows considerable

effectiveness due to

» anunderstanding of most concepts

* minor ertors and/or omissions in the
application of the procedures.

40

Application of knowledge and skills of drawing
three-dimensional figures shows a high degree
of effectiveness due to

= athorough understanding of the concepts

« an accurate application of the procedures.

« ie. student draws an appropriate three-
dimensional figure with appropriate size
and shape (minor errors do not detract
from a thorough understandin

Smrm;_;ﬂuﬁh. .r{’shthmmtrc

Diaw e three-dhmensional figuee thas wlll be crented when the following et is faldad,
Shower alf wertlees and edzes.

]

. Questiond

+ Driawr the three-dimenslonal figuse thal will be ¢reated when the fallewing net 1 foldet,

Show all vertices and edges,

Rationale :

L

Application of knowledge and skills of drawing 3D
figures shows a high degree of effectiveness
Appropriately drawn triangular prism using the
isometric dot paper- no errors or omissions

Rationale :

Application of knowledge and skills of drawing 3D
figures shows a high degree of effectiveness

Minor error does not detract from a thorough
understanding of being able to draw appropriate
triangulér prism (triangular face not drawn exactly)

- - Code 40
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AR peséription A

Blank - nothing written or drawn in response

Illegible, Irrelevant, Off Topic

Problem-solving process of examining probability shows

limited effectiveness due to

= minimal evidence of a solulivn process

* limited identification of important elements of the
problem
too much emphasis on unimportant elements of the
problem

= noconclusions presented

» _conclusion presented without supporting evidence

Problem-solving process of examining probability shows

some effectiveness due to

* onincomplete solution process

s identification of some of the important elements of
the problem
some understanding of the relationships between
important elements of the problem

» simple conelusions with little supporting evidence

Problem-solving process of examining probability shows

considerable effectiveness due to

= @ solution process that is nearly complete

s identification of most of the important elements of
the problem
a considerable understanding of the relationships
between important elements of the problem

= appropriate conclusions with supporting evidence

Problem-solving process of examining probability shows

a high degree of effectiveness due to

= a complete solution process

= identification of all important elements of the
problem
a thorough understanding of the relationships
between all of the important elements of the problem

s appropriate conclusions with thorough and insightful
supporting evidence

(i.e. identifies 3, 6, 9 and 12 as multiples of 12 and

expresses the Tﬂ‘ﬂbﬂhllll as 4/12 or reduced,

| Question 10°

- A spinner bas 12 equal-sized sectlons, The secifons are Inbelled | through 12,

What Is the probabilly that Frieda will spin a muluple of 3 an hee firs splnt

Explain how you know.
Recors O\ o n—':]C_(:.:\g,, Be i Yree |
o2 wove thavvees of X

The probability Is TRoipCey .

TR -

A ;p]nner has 41 equal-sized seaions. The semiona e Inkelled 1 through 12. "
Wwhat Is the probability that Frieda will spla a multiple of 3 on her fist spint

Explain how you knew,
At
1A
The probabilicy 1= _L b

Eationale ;

Minimal evidence of a solution process

Conclusion presented without supporting evidence
(did not list multiples or probability statement)

Rationale :
* Minimal evidence of a solution process -
# Does not ldentlf}f important elements of the problem

10




A spinner han 12 equab-alzed seclona. The sectlons are labelled L theaugh 12
What b3 ke prababilicy thae Frieda will spin a muldple of 3 on her st aging?

Expiaiin D puss oo,

The pratabillgn 32,

=

A !'pinner Ias 12 wequil-afzed sectlons, The secrions are [abelled L thraugh 12,
What |3 the prababiliey thay Frieda will spin 2 mulidple of 3 on her fican spind

Explain hove you know, |
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Guigstion 10 i | Code20 i

A I.!pi!lnﬂ haz L2 equal-sized zeccions, The secilons ste labelled 1 chesugh 12,
What is the probability that Fiieds will zpin 3 muliiple of 3 on her pind
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: at L .
CERY ;;Q gt
' ——

Ao i 1 ;}g},@f nj,«:z?
-_"-"-"I LT _I.- *T?."E-I-\'

IR
gy o
[ q.h‘_‘?‘ﬁiﬂrﬂ LT -.'I'-,f-ﬁm. L ﬂrgl.-z,,r';
4 L T -
AT

ke

The prababsilly is i__,_

=

Rationale :

« Some understanding of the relationships between
important elements of the problem -probability but not
multiples

= Anincomplete solution process

Rationale :

» Identification of some of the important elements of the
problem- identifies multiples but not probability

s An incomplete solution process

Rationale :

« Identification of some of the important elements of the
problem- identifies multiples but not prabability

¢ Anincomplete solution process

11



“Quigstion 10

A ;;.';inuer has 12 equal-sized sectlons. The senions are labelled | thraugh 12,

"whar is 1he prababiliy ehat Frieda will spin a muliiple f 3 on ke fiest 2pinf

Eﬂplain-h:]w yiris Knon, -r""‘;.llj;,l-:::\ iz
5
Ry =%
e Vol =
yrere 2
D‘r"\"t\i 4 prepleh
UQ’ Rovce O
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The prabability i -.SL. &

£

A spinner has 12 equal-sized secfions. The seciions are labelled | through 12,

e %
+ Wwhat s the prababilioe that Prieda will spin a muldple of 2 an her fiest apint

J— F_"fpl.1i|-'| b you Irnu.':.l‘l_

The prebabiliy i= =
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-

Rationale ;

» A solution process that is nearly complete- lists the
correct probability but does not state what the
multiples of 3 are

Rationale :

« A considerable understanding of the relationships
between important elements of the problem

« A solution process that is nearly complete although

does not list multiples of 3up to 12

12
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Blank - nullnn 2 wrilten or drawn in response

Ilegible, Irrelevant, Off Topic

Problem-solving process of examining probability shows I

limited effectivencss due to

» minimal evidence of a solution process

* limited identification of important elements of the
problem

= too much emphasis on unimportant elements of the
problem

* no conclusions presented

o conclusion presented without 1=:up]‘n:-rting evidence

Problem-solving process of Lmtmnmg probability shows
some effectiveness due o

» an incomplete solution process

» identification of some of the important elements of
the problem

= spme understanding of the relationships between
important elements of the problem

+ simple conclusions with little supporting evidence

Problem-solving process of examining probability shows

considerable effectiveness due to

» asolution process that is nearly complete

o identification of mest of the important elements of
the problem

* aconsiderable understanding of the relationships
between important eléments of the problem

» appropriate conclusions with supporting evidence

Problem-solving process of examining probability shows

a high depgree of effectiveness due to

« a complete solution process

» identification of all important elements of the
problem

» athorough understanding of the relationships
between all of the important elements of the problem

» approprigte conclusions with thorough and insightful
supporting evidence

(i.c. identifies 3, 6, 9 and 12 as multiples of 12 and

expresses the probability as 4/12 or reduced)

[ Question 10|

Aspinmer b 12 equal-sized sections, The sectbons are labelled 1 through 11,
What is the probabilicy thar Ededa will spin 2 muliiple of 3 oa her first spint?

Exp'lai'n hovw yeu know

Mkl S Pianel
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1‘»4[ At bed
A fpandr
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. The probability is L-Jyl 2 e "’(3

=

A spinner has 12 equalsized sections, The sectiona are Jabelled 1 through 12,
What is the prababilin thae Feieds wlll spin 2 multiple of 3 an her ﬁrl!-!P-ll'I-E

E [T xhes 3 o '.q' ¥

Explain rhav.ry\au hemose

Ik LIL
,..L.,uL )

,ll—'

The prabability is "%y i

-

Rationale :
* Complete solution process
o [dentifies 3,6,9 and 12 as multiples of 12 and

expresses the probability as 4/12 and reduces this
fraction to 1/3

Rationale :

e Complete solution process

» Identifies 3,6,9 and 12 as multiples of 12 and
expresses the probability as 4/12 and reduces this
fraction to 1/3

13
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lcode!| i1 1 [Description |
B B ismk '['lﬂlhll'l.f:, writlen or druwn in rasponse
|

Ilegible, Irrelevant, Off Topie

Problem-solving process related to calculation and
comparison of area shows limited effectiveness due to
* minimal evidence of a solution process
« limited identification of important elements of the
10 prablem
= too much emphasis on unimportant elements of the
prablem
» noconclusions presented
= conclusion presented without supporting evidence
Problem-solving process related to caleulation and
comparison of aren shows some effectiveness due to
= anincomplete solution process
: e identification of some of the important elements of
20 the problem
» some understanding of the relationships between
important elements of the problem
= simple conclusions with little supporting evidence
Problem-solving process related to caleulation and
comparison of area shows considerable effectiveness
s asolution process that is nearly complete
s identification of most of the important elements of
30 the problem
o aconsiderable understanding of the relationships
between important elements of the problem
s appropriate conclusions with supperting evidence

Problem-solving process related to calculation and

comparison of area shows a high degree of effectiveness

e a complete solution process

» identification of all important elements of the
problem

40 e athorough understanding of the relationships
between all of the important elements of the problem

» apprapriate conclusions with thorough and insightful
supporting evidence

{i.¢. accurately uses an appropriate strategy to calculate

I.I1.|t jﬂ'I}L'I' tiles are needed)

P

. Quiestion 1

(Code 10

Susie wanis 1 tlle the floor of her family's rectangular play reom. The tiles she plans to
wie are [0 cm by 10 em sqquares, A drawing of the room is shown below.

10m

How many of the square giles will Susle need 1o cover the Noor of the play roamt

Show your work. VT
¥ B m
1
5 ¢fh
~75 M

Susle will need _ V15 iites.

Question 11

+Susie wanis 1o tile the floor of hee Femily's recangular play eoom, The tiles she plans ta
use are 10 om by 10 cm squares, A drawing at the room is shown betew.

10um

5m §
]% !

i

How mamy of the zquare les will Susle need 1 cover the floar of the play oamt

| #howe yeur wock,
Plan, -"le. I
FF i fBf S
=B
Sig | 4 Sue 2k B Feside
¥ Sapsier weill peed € e F '

Rationale ;

Minimal evidence of a solution process
Limited identification of important elements of the
problem

Rationale :

e Minimal evidence of a solution process or limited
identification of important elements of the problem

e Calculates perimeter "
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S question A1

nSusie wanig 0 gile the flooeaf her family's rectangular play room, The siles she plans ta
use are 10 cm by 10 em squares. A drawing of the raom i shown belew.

13 m

Bm

How many ol the squore tiles will Susie n:!&‘lb cower Lhe floer of the play reom?

Shaw yourkn.rk. 1':;;)‘_‘« zlm J'IZI_!-ﬂ1
1000 ¢ = M 5tk
Codgm = b &

i
Susie will reed _'LED_ tiles,

dusie wanis 1o tile che fAoor of her family's rectangular play roarm. The tiles she plans 1a
s are 10 e by 10 cm squares. A drawlng of the mom is shown below,

10 rm

Em

How many of the aquare tiles will Susle need to cover che Reor of the play room?

showpourwork- T fof  wy dfwger by dmawnd on

ii Pafer ond T deew the :L}; ram Le,

4id +D: S‘f’i"ﬁi ‘ZfTJZE % ths ‘g hw thes
- s Mg T i

hen s ulipded 5yl pren q\é,: i

Susle will need jﬁ_ tifes,

Rationale :

¢ Some understanding of the relationships between
important elements of the problem

¢ Conversions done correctly then adds to find number
of tiles

Rationale :

* Incomplete solution process

» Some understanding of the relationships between
important elements of the problem- finds area of give
rectangle £
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Y EQAQ Grade 6 AsSessment;

ke g

‘Guide- Mathematics — Spring 2006 -

0 Question 41 Code 300!/ Question Al Code 30 WM Question A1 T Code 300
; « Sussie wanis 10 e the Noo¢ of her Bimily's recaegular
Susie wants to tile the floos of her faily's sectangulas play room. The iiles she plaos 10 T HAACANIRR § Ier NG The el she phice 10
squares. A drawing of the teom Is ihown below. Escare 10 < by 10 om sqmares. A drawing of the foom is shown below.
o 11 o 6l e floor of her fanily’s moungular play room., The tilesshe plint o .mnmmhmm i
w'rj;mhwmmlmhﬂnmﬁMImhﬁmm 10m L
10m s - Sm
Bm '
i i ) . e sty of alie avpuae tiles will Susle nesd 16 cover th
Haw many of the sapuare les will Susie need to cover the Moo of e play roon it Hoar of theglay rooml
How many of the spuare dies will Sutke need to cower the Noor of de play roomT gyt vl "‘5":"’:;'5":" = Bom?=5000cm>
. - A Al
[[svow post st i k AN 1 i) wob gkl <D =T ¥ ' RX102V00 v s il
10m ¥ By 2 OCeo. = 5022 5000 erd "G00 and 1000 w0519+ 50D ' Bopoe~
. A RS Wd beSe Smoisthe '35.1:, 3 : 100 em™
10 ¢r WIDem = area of kles 4 100em i Cgame, 95 500cm I;;E%L P MGl . ; _.-—_50
, o ; g ' : 6 [000E~ mult i
5000 et + 100 et = 5O kilesr oft 10emby [8cm beres YUl DS 25— i
LR - St?!-"ll! Hlmﬁ.ip—-—-m tiles. © _ﬁ—-ﬁ;éﬂ—‘ et .im___llks.
susie witlneod 90 jites. = B =
La : 500600 -
e Problem solving process is nearly complete e Solution process is nearly complete e Solution process is nearly complete
e Converls m® to cm? incorrectly « Does not divide total area by area of 1 tile » Considerable understanding of the relationships
between important elements of the problem
e Converts m* to cm” inaccurately
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FEm T I S ';;'T.'.'Ja.

Code’ | T Description F1
B Hlank - Imthmg written or drawn in response
I Ilegible, Irrelevant, Off Topic
Problem-solving process related to caleulation and
comparison of area shows limited effectiveness due to
= minimal evidence of a solution process
= limited identification of important elements of the
10 problem
i * too much emphasis on unimportant elements of the
~ problem
= noconclusions presenied
= conclusion presented without supporting evidence
Problem-solving process related to ealculation and
comparison of area shows some effectiveness due to
=« anincomplete solution process
= identification of some of the important elements of
20 the problem
» =ome understanding of the relationships between
important elements of the problem
s simple conclusions with little supporting evidence
Problem-solving process related to caleulation and
comparison of area shows considerable effectiveness
* asolution process that is nearly complete
30 » identification of most of the important elements of
the problem
« aconsiderable understanding of the relationships
between important elements of the probletn
« appropriate conclusions with supporting evidence
Problem-solving process related to calculation and
comparison of area shows a high degree of effectiveness
+ a complete solution process
+ identification of all important elements of the
problem '
40 = 3 thorough understanding of the relationships

between all of the important elements of the problem
» appropriate conclusions with thorough and insightful
supporting evidence
fi.c. nceurately uses an appropriate strategy to calculate
that 5000 tl]lzs are nccdud

use are 10 an by 10 eem squares, A drawlng of the room is shown below.

10 m

6in

Haw many af the square tiles will Susle need 1o cover the Roor of the play romi

. Susie wants to tile the Floor of her family's rectangular play eoom. The tiles she plans

1 Show your work.

Plansepwect 19m grd Sm Sf iy eas

mﬁmz Alla

e e, divtde oen oF piay coart it
works IDm=1000em 1000 11?3:-: IDIZII"-_'_-W'
S = 00 Tt

Susie will need __SO00 alles. #

..|,';||.-..|| Kim and Be i em, rgliigly Wam

| Question 11

\Sutie wants 1o tile the floor of her Family's rectangular play room, The tilies the plans to
use are 33 cm by 10 om squares. A drawing of the room bs shown below

10m

Haw many of the squaze illes wll| Susie need to cover the Noor of tie glay reomd

[ONHE i w8 e
. Show your waork, y
oz VO £ H% 5ena'500L log nEp =5000
B0l Oem = 50

M T e

Susle will need Sl:l' a D 1iles. -

Rationale ;

conclusion with supporting evidence

» Thorough understanding of the relationships between
all of the important elements to reach an appropriate

Rationale :
* Thorough understanding of the relationships
between all of the important elementsto reach an
appropriate conclusion with supporting evidence
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